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EXERCISE 11B

1 a 22m b 100s ¢ t~31.5s,685s,1325s, 168 s
2 a i 7500 grasshoppers ii 10300 grasshoppers
b 10500 grasshoppers, when ¢ = 4 weeks
¢ I at t:l% Wksand6% wks i at t:9% wks
d 251 <t<549
3 a 20m b at t = % minute ¢ 3 minutes
d
0% H(®)
30
20 (3, 20)
10
y L
b l 1 2 3 -
4 a 400 water buffalo
b 1 577 water buffalo ii 400 water buffalo
¢ 650, which is the maximum population.
d 150, after 3 years e t =~ 0.262 years
5 a H(t)=3cos(%t)+4 b t~1.46s
6 a i true i true b 116.8 cents L™1!
¢ on the 5th, 11th, 19th, and 25th days

d 98.6 cents L~ ! on the 1st and 15th days

EXERCISE 11C.1 s

1 a 2sinf b 3cosb ¢ 2sinf d sin6

e —2tan6 f —3cos20
2 a3 b -2 c -1 d 3cos?0

4sin? 0 f cosf g —sinZ0 h —cos?6

i —2sin26 i1 k sin6 | sinf

3 a 2tanx b tanZx ¢ sinz d cosx
2
e 5sinx f
Ccos T

4 a 1-+2sinf+sinZ0 b sin?a —4sina + 4

¢ tan2a — 2tana + 1

e

5 sin

2

1 —2sinfBcosf

x —tan? x

d 14+ 2sinacosa

f —4+4cosa— cos?

EXERCISE 11€.2 I

1 a (1—sinf)(1+sinb)
b (sina + cosa)(sina — cos a)
¢ (tana+ 1)(tana — 1) d sinB(2sinf8 —1)
e cos (2 + 3cos o) f 3sinf(sinf — 2)
g (tand + 3)(tanf + 2) h (2cosf + 1)(cos6 + 3)
i (3cosa+1)(2cosa—1)
2 a l+sina b tanfg —1 ¢ cos¢ —sing
1 0
d cos ¢+ sing¢ e — €os
sina — cos« 2
EXERCISE 11D
24 7 24 7 1
1 a 55 b —35 < - 2 a -3 b 9
3 a cosoz:_T\/5 b sin2o¢:4T‘/g
h a sinf= _‘éﬁ b sin206 = _42‘5{5
1 22 3
S ag BT 63
7 a sin2a b 2sin2a ¢ ssin20  d cos2p
e —cos2¢ f cos2N g —cos2M h cos2«a
i —cos2a ] sin4A k sin6a | cos860
m —cos6i n cos 10« o —cos6D p cosdA
q cos« r —2cos6P
9 amzo,%,n,%’,%r bm:g,%" ¢ z=0,m 27
EXERCISE 11E e
1 am:O,w,%,llT",Qw bmz%,%,%’,%
[ m:%,w,‘%” d m:%,%,l% e no solutions
2 a :1::0,2?7’,4?7’,27r b z=3%3 ¢ m:%,%",llT“
— 5 7 3 11
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_ T _ m™ 5m
e m—z f x_E’F

REVIEW SET 11A I

1 a z~115°,245°, 475°, 605° b x =~ 25°, 335°, 385°
_ 7m 11w 197w 237 _ s 57 mw 31
2 ae=%.%>%>% °rT="7 " 07
4w 57 10x 1llx 16w 17 3r 7x 11
L e B e R e o i
b z=0,3F 2m, X, Ar
1 —
5 a 1—cosf b — cosa
sin o + cos « 2
6 cosa:—lg, sinQaZSJg
REVIEW SET 11B I
1 a z=0.392, 2.75, 6.68 b z~5.42
2 a xr~1.12,5.17,7.40 b z~0.184, 4.62
120 119 120
3oa 15 b 15 ¢ 1o
h a i r=1.33,4.47, 7.61 ii z=x5.30
iii =~ 2.83,5.97, 9.11
. . s o 2 5
b ia=-53% e=-% -5 5%
e _ 27 T w27
i zr=-%.-3 3 %
¢ =~ 0.612, 3.754, 6.895
~ _ nm w 3w 1llwm 17w 197
5 a $~127,502 b m—ﬁ,z,T,l—,l—,v
¢ =~ 1.09, 2.05
6 a 5000 b 3000,7000 ¢ 0.5<t<25and6.5<t<8

7

x ~ 1.37, 5.44, 7.65



